12 H 20 H (H) BfEOMEKIL—ADEMT — % OFIHKIZ DN T
I/" ,0 Yurekurun
a1 PN B Aoy senc
ARl 12 3 8 B (&) 123E L7z, APPKIEMS.4 ORI BFEASL < fRvE Lo,
ATJRELSR & U CRKIL—A DK 1 FRICHED BT — % OIS, ZOHEDO TIkE X <
A TWELE, ToMERAR, FKL—ADOT—2 13D L EFERZ AT H00,
FTCITHIE V20 . 12 H 18 H Z A7 o CHEALFE—IRE I /2> TOET,
LIFIZiEAmE, 12 A 20 B E TOMEKIL—AOFHIKEOR R ZEHEEE I, milnl 12 A 3 H
DOHEPKIEMS.4 DHETTZFALF—Z2RKH LT LE-7, EbEXLNETH, Fdkil—
ADT =B 1TEMBHENTWZZ ENBME4 TN TEDL EWVWIHIEBEZLHY 7,
ZOHAIFEIEILE Y &, EHICKERM6 7 7 AOKMBENEEZES | L) Al
Y £9, FEMEICIX £E~ﬁ®k%<%ﬁ@1$4%%ﬁ%#mf%6# 54D 484,
EAL 355 e E b RERT—H b DV T, it%awﬁﬂfb)ﬁ Do TWET,

FZTHEE, BEEHIXIIME 7 T ADKHIE ﬁuowf@ﬂbtwk WEFT DT
THEELTEEN,
<HETHE>

BRI > BAE X (R kiE) |
B >M6 7 5 A
REH>AH12H 208X 3 HE

<HiE 12 A 3 HALFHAEMS.4 OFTEOFIEK IL— A ORI >
12 A 3 HfnaEkil—A 360 HF — XUk
B 227 HIEIL-A

200,000 -

= m

21120342 fF7KiEMS.

150,000 -

100,000 -

NNNNNNNNNNNNNNNNNNNNNNNNNNNNNNN

12 A 3 HfngkiL—A 90 HF — XK
B 227 MFL-A

200,000

150,000
2112032 fF7REMDE .4
100,000

50,000

{}

o Ry R R R RS oRE R OB ORY R OB R ORI R B R OB O8N OGH R OR R @& o E o s
2 o e o o e e e e e 2 I = o = H o o = S 7 o 7 o T =¥ =% % ) M. %

Ab-RL ABMR

HEE TR R 1



milEl - HIEEFEAE 12 A 3 AR KIEMbG.4

1 EE @EE2 @53 4 EE4 5 5E5E G EE @ EEE P52 Q=7 X ER

EERZ 20214128 3?3 gﬁzsﬁ?} 3
=Eis ﬁ%ﬁi
XEE e
?ﬁi&’-z— S l75.4
ma ' 20km

<A1A 12 A 20 H £ TOfMEKIL—A OO RINZ DOVT >
12 H 20 H Fudkil—A 360 HIET —#

’ 227 FFIL-A =
o 211203
3,000,000 FEFANkE
M. 4 9

12 20 H Ffodkib—A 60 BT —#
- [ 227 MFL-A 911203 [+ [O[=]

100,000 fofF Ak E
Mb.4

v

0
8 8 38 3 3 5 3 3 3 8 5 3 8 2 2 2 2322 323222885588 58 8
2 R § 8 8 8 8 8 & » 2 B ¥ 8 B B B 2 2 3 B B R ¥ 8B B B =2 z 3 B

AM-RL AR

R A 2



12 H 20 B Ffodkib—A 30 HET—#

227 FWL-A +[V[E]
50,000

21120342 FrokiE
M54

40,000

30,000

20,000

10,000

0

LTz
iz
rANR A ¥ 4
FTLLIT
STLLLT
9T LT
LTz
8T LT
6T°LLT
0E" LI
10°Z11T
0TI
€0°TVIT
YO IT
S0°TVIT
90°TL'4T
L0°TV LT
80°TL'IT
60°T1°1T
oLZVIT
LLTLLT
[ASrAS T4
ELTVIT
vLTLT
SLTVLT
9L TLIT
LTI
8L TLIT
6L°TLIT
0T'TIT
[TAr4a %4

n
[y
o
N
=]

AR ASOMA

12 H20 H Fikil—A 15 HRElT—#
227 MFL-A

E

bLZLIT
A4 ~4
ELTIT
FLTVLIT
(1545 ¥4
9L TLIT
LLTVIT
8L TVIT
6L°TVIT
oTTLIT
Y484

N N N N N N
- - - - - -
- - o = = -
N N N ~ N N
& & S 8 2 3

AR AZBSIMR

—HEEE 90 AT —#
B 453 =EHFWNI 453

=
800,000
600,000
400,000 -
200,000
R N S | —T— —
N 8 B N B B B B BB N RN R KENSNBB NN RNEENEBNEERER?SB®
3 3 3 83 8 8 8 8 8 & & & & & 2 2 2 2 2 2 2 2 2 2 B B B B B BB
¥ R 8 8 8 8 8 8 3 3 R R N 88 B B 2z 3 BB ERBSS R B 2 OB

Ab-RL AZRNIMR

[1]
-
Gt
&
(=Y
Ot
jun|
N

—

453 =EEFEWNI 453 [+ O] =]

VT

8 ] 8 8 ] N R 2
B B 5 S B S B 5
8 8 ] 8 ] 3 = s

€

PLTVIT
SLTIIT
9LTVIT
PS4 Y4
8L°TIIT
6L TVIT
0TTIT
[74r 4% 74

A2k ABAMR

HEE TR R 3




ek 855 30 HRH T —#
- L]

355 R#aiRiL355 —
300,000
200,000 -|
100,000 -
04
BB R BN B RN B S RBRE BN R RRRENRERRRRERERBERRES®
8 B B B B B B % B 8B 8 2 B 8 B B 8 % 8 8 3 2 R @ 2 & & 3 » = 8 R
AR-RL ABOIAR
t84D484 60 HE T —#

HEE —_
n- 484 {R3-D 484 =
— \

40,000 - \\
20,000

0 T T + r T T T y r T Tkt T T T T T T L T T

2o B 8 O N N N s 82 O &8 B B B B B OB OB OB O R B O R R B

2 8 8 8 & 8 2 2 2 =2 2 2 2 2 =2 =2 =2 2 2 =2 5§ 8 8 8 B B B 8 B B

28 B X B 2 8B B & B8 5~ = & = 8 R B B B 8 B B & 8 3 8 =& = B8

Ab-Rl ASLIAR
EB —
E-._Jlﬁn 345 30 HfE7—#

e =
n 345 £2452B-345 —
40
30 [—

20
10
04

8 T4 RS BT ET R RS RTRTRTRTRTRORTR R TR R TR TR R SR VR TR TR IR IR AT R
2 2 2z 2 2 2 2 =z 2 2 2 3 § 8§ 8 B BB B BB P B B B B B B B B B
5 B R B R B B ¥ 8B 8 8 2 B 8 B B8 B % 8 38 =3 5 & = » & I = » 8 R

ARl AR

HEE TR R




